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1. Charge

A piece of a metal with a charge of (+6.0C) contains (1.6 X 10%electrons).
What is the number of protons in this piece?

Yaghslloim 6 ciligigylaac Lo .(ggpidI[1.6 X 101%) (+6.00) e 39105 leiinds cawoll o dzhs

@ 1.6 x 10%° @ 6.0 x 107° @ 5.35 x 10*° @ 2.15 x 10%°

2. Electric charge

Which of the following can be correct about the charge equals+2 C

+2 € (sqluy aiinib s Jgo o100 g9$s gl oSas s oo gl

@ 2electrons @® 1.6 X 10** protons © 1.6 X 10" electrons @ 2 protons

3. Electric charge

When you rub a polythene rod with a wool cloth, electrons are transferred from

one to the other. What charge does the polythene rod get?
Soiddgdl copns lngle Jonay Gill dinidl Lo .cslig iV J&i 03y cdrogo iilod delady gridgull copns clyai Loaic

s /

@ Positive (B Negative Neutral @ Can’t determine

4. Electric charge

In the figure, there are two identical conducting balls. What is the charge of each ball after contact:

du.o]].x_” awy 6}5 JS ain ngJ rOS tdLLlJLo.LDg de_l_ag_o ULIJS_”‘ lS_m_” Q_(:i
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5. Electric charge

A polythene rod gains a negative charge when it is rubbed with a cloth. Which one of the
following statements best explains how this happens?

i cnon S Sl S apis il Slluall o ol ol ehais 36 aie il s rsloal] o casas i

(@  Protons transfer from the cloth to the polythene rod  (© Electrons transfer to the cloth from the
afidgdlcas G gilosll o csligigpdl Jaisi polythene rod
oidedlcuas go gileslldelhs ] ciligSIll Jaiis
( Electrons transfer from the cloth to the polythene rod @ Protons transfer to the cloth from the
otidedlcuas Gl Gilesll o cilig IVl Jaiis polythene rod
el cuas go iloall Gl ciligigpdl Jaiis

6. Insulators, Conductors, Semiconductors, and Superconductors
Which of the following are materials that have zero resistance to the conduction of electricity?

@  Insulators ® Superconductors © Conductors @ Semiconductors

il gl Jeogill da316 Mo gl Mo gl Do goll ol

7. Insulators, Conductors, Semiconductors, and Superconductors

Which of the following is a material with the smallest resistance to conductivity

@  Insulators ® Superconductors © Conductors (@ Semiconductors
Jj gl o9l 48516 Mo gl <o gl Do gl oleid
8. Charging

shows figure the by charging.. ... ... aawlys gasid] J<id] asgs

@ Triboelectric ® Contact (© induction @  Grounding
) Sy sl aal) ol
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9. Charging

In the figure, a rod carrying a positive charge is brought close to an uncharged electroscope without
touching it. When the connection to the ground is removed, which of the following is true?

anolly gl gga ygadico pué ilymS LS (o dxllu dinid Joay Gluw uydi oi bgoll JSil o
con(luclingel::::ltroscope 4 *"‘L')és v QQSLLSLD QJJLL” LJ]JLLQ_” di @l.mJ] JlﬂJ! roj &pJJ‘LL” J_Q_D aic

0 5Q)  m— -
s

rod

conductor )
<« wire i

Ground ; ? ol
@ a ball and conductor are both negatively charged. © a ball is positively charged and conductor
zeidl LJlw loadMS Juogolly 6,81 is negatively charged.
il Wlw Jogally @il dusgo 8,51
®  aball and conductor are both positively charged. @ aball is positively charged and the
il w>g0 LdMS Jogollg 8,5 conductor is uncharged.

WUgz o jul Jogolly (izeidl dau>g0 6,31

10. the electrostatic force

Two-point charges (+ q) and (- q) have the same magnitude and the distance between them is (12 cm),
if the electrostatic force between the two charges is (6.0 N) What is the value of each charge?

<[.Ll_lﬂ_l.u_] ol Id_u q.lS.u[.uugJ.mS.” 09_0_” culs I:I! (12 Cm) dgLuu Lo_m_l.u q.ol.ul.o_”g JI;\_Q.oJI Juai Loen] (q _) 9 (q +) dl_x_lo_m dLLlQ_l "
Saionis JS das Go Lo (6.0 N) solus

@ 8.9nC ® 3.1pC © 89pnC @ 3.1nC

11. the electrostatic force

Which of the following is correct for the D in the equation (D = 4k &)
that links the Coulomb constant (k) to the electrical permittivity coefficient (gy) ?

(EO)MJ}@SJIMQ[&HJJIJOl&O (k).0gJgS culs s D = 4k SO}LIJJl&O_”o_ODOJ']cLLm_L”JeJQ_OQJT”d_Odi
@ ©  4/n © 1 @ 1/m

12. the electrostatic force

Two-point charges, initially 2 cm apart, are moved to a distance of 10 cm apart. By what factor ?does the
resulting electric force between them change

Slomiy dasll aslymSl sgall 435 Joleo Lo. 1 0CM dsluo LI 2CM dyhdl 6 Lnigs a6 Luoll cuilS bl ygibasill yiinill J&i o
@ 1/25 ® 25 © 5 @ 1/5
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13. the electrostatic force

The figure shows three protons and electron, which of the following represents the magnitude
and direction of the electrostatic force on the electron at the point of origin (0, 0)?

99 e 855001 &S silimgym Sl sgall olasly jhio Jios Gl Loo legpillly csligigp &lis JSidl o bg

yA Proton Q(O cO) J_D]” ‘LICLQJ ic A
é yé;u’-’u—.‘
d o™ : \
Proton ie\e"“ U5 s d 5)9
..... d =@ N @S2 P O
i (0.0) 5 P-gon - X ""6"“‘"(:0')' d _,?,).-> x
@ k x 1.6 x 10°1 © Yk x (1.6 x 10719)2
d? d2
to the positive y-axis wogolly jga0ll LI to the positive y-axis wosgolly jgaall S|
® kx 1.6 x 107%° @ k x (1.6 x 10719)2
d? d2
to the negative y-axis  «Jludly jgaoll JJI to the negative y-axis  <Jludly jga.0ll JJI

14. the electrostatic force

Charge A and charge B are 6 m apart. Charge A is 1.0 C, and charge B is 4.0 C, Charge C, which is 2.0 C, is
located at the straight line between A and B charge C is in electrostatic equilibrium.
How far from charge A is charge C

A disuidl ge C dinuidlans oS . Guiliwgyas yljsl b o C dinuidl cils BB, A guiiouidl g Jolgll osdiuoll

@ 4m ® 1m © 2m @ 5m

15. the electrostatic force

Three charged spheres are at positions shown in figure. Which one of the following diagrams represent the

direction of the net force acting on charged sphere B?
§ Biigasiiol 6551 L le 6 540)l ilan ol 698l olail adlil acludl ogusdl Jios Lenyl . JSuid] o9 bgall gslgell 6 81g2g.0 digauite culyS &5

-2qg & = +2¢q
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16. the electrostatic force
A charge Q1 = Q is positioned on the x axis at x = a. Where should a charge Q2 = 9Q be placed
to produce a net electric force of zero on charge placed at the origin?
L@JIJ_Q.oq_LlSquLU_mSog_oelJJ]] QZ = 9Q mﬁdlg_aggmd_llx=amXJga_oJlolch = Q q.x:x_ﬁx_”g_og(ou

@ Atx=2a ® At x = 3a © Atx=-3a d Atx=-2a

17. the electrostatic force

In the figure, q1 = —10.0 uC and q2 = 20.0 uC and q3 = 30.0 uC The distances along the
x— axis is measured in meters. Find the electrostatic force exerted on q3 due to the other two charges

qi gz g3
= L] t = =
(] I.0 2.0 3.0 X — axis

1920 80Ul gaoll Gle cslsluall yulsi g3 = 30.0 uC g g2 = 20.0 uCq9ql = —10.0 puC glaoll J<adl 6
q19q2 ¢iioidl oye anilidlg g3 aimuidl e 6.0l aslpmS 6gall jhso 10gl . yially

@ 1.05 N, +y axis b 1.35 to the left © 1.05N, totheright @ 1.05 N, to the left

18. the electrostatic force
The figure shows two points charges, where can the electrostatic force be absent?
1 @ 2 3 (g 4
13.0 pC 30.0 uC

S silisug Il 69all wasi | o Sos @90 gl o cpriskai o JSidl ymbs,
@ 1 ® 2 © 3 @ 4

19. the electrostatic force

Two identical positively charged balls hanging at rest form the ceiling by insulated massless ropes of
equal length as shown in the figure. is the distance between the two charges?

@bull yo yglull gags glihis (isgluio yringo yiindiy gaiigadito gililoio yd)S JSidl ymla,

9.6 uC, 9.6ucC
m=0.2kg m=0.2kg

@ 3.0m ® 1.0m © 0.5m @ 1.5m
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e Paper part

Three-point charges are placed at the vertices of a right triangle as in the adjacent figure,
Ifand q1 = 6.0 uCand q2 = 8.0 uCq3 = —q2 The air surrounded the charges,

v 4 e Joloodl JSidl 6 LoS gl 0ls clio ugd) aic dshnsi cilin &l creag
,‘ g «olisidl by cgmll 89 g3 = —q29 q2 = 8.0 uCqql = 6.0 uCculs 1y

*
*
*
*
Q
*

Calculate the magnitude and direction of the electric force for charge g3

q3ainil o 35 1) ailymSl gall olailly jhso cowsl

" 0.40m

X
* 030m &Fm==F

® 0509886279 K o cujall iy



